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COwnpnyh wwunwujuwbny wrwownnwapltn
N Ahunn wwuinwufuwl N Ahauin Wwunwufuwb
1 1 12 4
2 3 13 2
3 2 14 4
4 2 15 1
5 3 16 3
6 3 17 4
7 4 18 3
8 1 19 3
9 2 20 2
10 1 21 3
11 1 22 3

Ywps ywunwufuwlbny wewownpwOpbbn

N Ahnn Wwiinwufuwb
23 dGrpptpnyh pbwyw
24 A
25 wwjdwbwywhb
26 uwhuwnwynigltn
27 pEINdwgnL
28 ukqnntpdng
29 dtlUnuinhw
30 rtnnigtOunbtnp
31 ubbnwyhb npw
32 Yshuwsha

ClUnwpdwy wwuinwuuwl ywhwaonn wrwownpwbpltpp tptpb 60 (33-pn, 34-
nn, 35-nn): Unwownpwbpltphg jnipwpwbsiniph 2h2un wwwnwufuwbh hwdwp tpgnid
£ 1 dhwynn:

33-nn wrwownnwlpp wwhwbgnid | GYwpwagnt ng dwrwOqwywb
($EUGnuNhwywhb) Ywd dnnhdhlywghnb thnihnfuwlwbnepynibp: Grb Ga4LL £, np



thnihnfuwywbnepjwl wyu dup Yyuwwywé st ggbnuinhwh thnthnfudwb hgwn, tnpyned £ 1
dphwynp, Gpt sh Gp4b)" O:

34-pn. wewownpwlpp wwhwbond £ OYwpwantp  tdnynighwih - giuwynn
ninhbtphg pUnhwGnip  nbgGUGpwghwlbpp: Gt Gpdwd t, np pGnhwlnep
nGgtuGpwghwObnt wjGwhuh tYngnighnb thnthnfunepyntGbtbp G0, npnbp tnwlOnwd GO
ntwh opqwbhqultph Yuwgdwynpywdnipjwlb wywngbgned, tnpynid £ 1 dhwynp, Gpb sh
Gpdby” O:

e 35-nn wrwownpwbpp wwhwbgnd t (nuét| fubnhpp: Gt GEpYwwgywsd

inténeip Hwywpwpned £ updwé wwhwboht, b unwgywé wwinwufuwab b 1/2 Jud
50%, wnnpyntd £ 1 dhwynn, Gt ng” 0:
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COwnpnyh wywunwujuwbny wrwownnwbpltn
N Ahunn wwuinwufuwb N Ahauin wWwunwufuwb
1 2 12 1
2 4 13 3
3 3 14 1
4 3 15 2
5 4 16 4
6 4 17 1
7 1 18 4
8 2 19 4
9 3 20 3
10 2 21 4
11 2 22 4

Ywpsd ywunwufuwlbny wewownpwOpbbn

N Ahonn Wwiinwufuwb
23 dbrpptpnyh plwyw
24 A
25 wwjdwowywh
26 uwhuwnwyniglbtbn
27 pEINdwagnLl
28 ubgnntpdhg
29 dtlUnuinhw
30 rtnnigtOunbtnp
31 ubbnwyhb npw
32 Yshuwsha

ClUnwpdwy wwuinwuuwld ywhwaonn wrwownpwbpltpp tptpb 60 (33-pn, 34-
nn, 35-nn): Unwownpwbplbphg jnipwpwbsniph 2h2un wywwnwufuwbh hwdwn tnpdnid
£ 1 dhwynn:

33-nn wrwownnwlpp wwhwbgnid | GYwpwagnt ng dwrwOqwywb
($EUGnunhwywihb) Ywd dnnhdhlywghnb thnihnfuwlwbnepynibp: Grb Ga4LL £, np



thnihnfuwywbnepjwl wyu dup Yyuwwywé st ggbnuinhwh thnthnfudwb hgwn, tnpyned £ 1
Uhwynn, tpk sh Gadb;" O:

34-pn. wewownpwlpp wwhwbond £ OYwpwantp  tdnynighwih - giuwynn
ninhbtphg pUnhwGnip  nbgGUGpwghwlbpp: Gt Gpdqwd t, np plnhwlnep
nGgtuGpwghwObnt wjGwhuh tYngnighnb thnthnfunepyntGbtbp G0, npnbp tnwlOnwd GO
nEwh opqulhguibbph Ywqiwynpdwénipjwl wwngbgned, tnpgnid £ 1 dshwynp, Gpb sh
Gpdby” O:

e 35-nn wrwownpwbpp wwhwbgond t (nuék| fubnhpp: Gt GEpYwwgywsé

inténeip Hwywpwpned £ updwé wwhwboht, b unwgywé wwinwufuwab b 1/2 Jud
50%, wnnpyntd £ 1 dhwynp, Gt ng” 0:



